

# COMMUTATIVITY THEOREMS FOR CERTAIN RINGS WITH POLYNOMIAL CONSTRAINTS

MOHARRAM A. KHAN

*Department of Mathematics, Faculty of Science,  
King Abdulaziz University, P.O. Box 30356, Jeddah 21477, Saudi Arabia  
(E-mail: scf3045@kaau.edu.sa)*

(Received 11 September 1999; after Revision 31 March 2000; accepted 26 June 2000)

We discuss the commutativity of certain rings with unity 1 and one sided  $s$ -unital rings under each of the following ring properties (see Introduction for properties). Also commutativity of rings is found under different sets of constraints on integral exponents.

**Key Words :** Commutativity; Commutator ideal; Polynomial Constraint;  $s$ -Unital Ring

## 1. INTRODUCTION

Throughout this paper,  $R$  will denote an associative ring, with  $N(R)$ ,  $Z(R)$ ,  $C(R)$  and  $(R, +)$  denoting respectively its set of nilpotent elements, its center, its commutator ideal and its additive group. For any  $x, y \in R$ ,  $[x, y] = xy - yx$ . By  $GF(q)$  we mean the Galois field (finite field) with  $q$  elements, and by  $(GF(q))_2$  the ring of all  $2 \times 2$  matrices over  $GF(q)$ . We denote  $e_{11} = \begin{pmatrix} 1 & 0 \\ 0 & 0 \end{pmatrix}$ ,  $e_{12} = \begin{pmatrix} 0 & 1 \\ 0 & 0 \end{pmatrix}$ ,  $e_{21} = \begin{pmatrix} 0 & 0 \\ 1 & 0 \end{pmatrix}$  and  $e_{22} = \begin{pmatrix} 0 & 0 \\ 0 & 1 \end{pmatrix}$  in  $(GF(p))_2$ , for a prime  $p$ . As usual  $Z[X]$  is the totality of polynomials in  $X$  with coefficients in  $Z$ , the ring of integers. Following [7], a ring  $R$  is said to be left (resp. right)  $s$ -unital ring if  $x \in Rx$  (resp.  $x \in xR$ ) for each  $x \in R$ . Further  $R$  is called  $s$ -unital if  $x \in Rx \cap xR$  (see [1, 2]).

Now, we consider the following ring properties:

(c) For each  $y \in R$ , there exist polynomials  $f(\lambda), g(\lambda), h(\lambda) \in Z[\lambda]$  such that

$$g(y) [x, f(y)] h(y) = \pm x^p [x^r, y] y^q$$

for all  $x \in R$  and fixed integers  $r > 1, p \geq 0, q \geq 0$ .

(c<sub>1</sub>) For each  $y \in R$ , there exist polynomials  $f(\lambda), g(\lambda), h(\lambda) \in \mathbf{Z}[\lambda]$  such that

$$g(y) [x, f(y)] h(y) = \pm y^q [x^r, y] x^p$$

for all  $x \in R$  and fixed integers  $r > 1, p \geq 0, q \geq 0$ .

(c<sub>2</sub>) For each  $y \in R$ , there exist polynomials  $f(\lambda), g(\lambda), h(\lambda), \tilde{f}(\lambda), \tilde{g}(\lambda), \tilde{h}(\lambda) \in \mathbf{Z}[\lambda]$  such that

$$g(y) [x, y^t f(y)] h(y) = \pm x^p [x^r, y]$$

and  $\tilde{g}(y) [x, y^t \tilde{f}(y)] \tilde{h}(y) = \pm x^q [x^s, y]$

where  $p \geq 0, q \geq 0, t \geq 2, r > 1, s > 1$  are fixed integers with  $(r, s) = 1$ .

(c<sub>3</sub>) For each  $y \in R$ , there exist polynomials  $f(\lambda), g(\lambda), h(\lambda), \tilde{f}(\lambda), \tilde{g}(\lambda), \tilde{h}(\lambda) \in \mathbf{Z}[\lambda]$  such that

$$g(y) [x, y^t f(y)] h(y) = \pm [x^r, y] x^p$$

and  $\tilde{g}(y) [x, y^t \tilde{f}(y)] \tilde{h}(y) = \pm [x^s, y] x^q$

for all  $x \in R$  where  $p \geq 0, q \geq 0, t \geq 2, r > 1, s > 1$  are fixed integers with  $(r, s) = 1$ .

(c<sub>4</sub>) For each  $x, y \in R$ , there exist polynomials  $f(\lambda), g(\lambda), h(\lambda), \tilde{f}(\lambda), \tilde{g}(\lambda), \tilde{h}(\lambda) \in \mathbf{Z}[\lambda]$  and  $r = r(x, y) > 1, s = s(x, y) > 1, p = p(x, y) \geq 0, q = q(x, y) \geq 0, t \geq 2$  are integers such that  $r$  and  $s$  are relatively prime and  $R$  satisfies

$$g(y) [x, y^t f(y)] h(y) = \pm x^p [x^r, y]$$

and  $\tilde{g}(y) [x, y^t \tilde{f}(y)] \tilde{h}(y) = \pm x^q [x^s, y]$ .

(c<sub>5</sub>) For each  $x, y \in R$ , there exist polynomials  $f(\lambda), g(\lambda), h(\lambda), \tilde{f}(\lambda), \tilde{g}(\lambda), \tilde{h}(\lambda) \in \mathbf{Z}[\lambda]$  and  $r = r(x, y) > 1, s = s(x, y) > 1, p = p(x, y) \geq 0, q = q(x, y) \geq 0, t \geq 2$  are integers such that  $r$  and  $s$  are relatively prime and  $R$  satisfies

$$g(y) [x, y^t f(y)] h(y) = \pm [x^r, y] x^p$$

and  $\tilde{g}(y) [x, y^t \tilde{f}(y)] \tilde{h}(y) = \pm [x^s, y] x^q$ .

(CH) For each  $x, y \in R$ , there exist polynomials  $f(\lambda), g(\lambda) \in \lambda^2 \mathbf{Z}[\lambda]$  such that

$$[x - f(x), y - g(y)] = 0.$$

Q(b) For all  $x, y \in R, b [x, y] = 0$  implies that  $[x, y] = 0$ , where  $b$  is some positive integer.

A beautiful theorem due to Herstein<sup>6</sup> asserts that a ring satisfying the polynomial identity  $(x + y)^m = x^m + y^m$  for some  $m > 1$  must have nil commutator ideal. Among other classes of rings in which  $C(R)$  is known to be nil is the class of rings satisfying the polynomial identity  $[x^m, y] = [x, y^m]$  (see [5] for references). But the class of rings satisfying the latter identity includes

the rings satisfying  $(x + y)^m = x^m + y^m$ . Motivated by this observation, Bell<sup>4</sup> established that a ring  $R$  with unity 1 satisfying the polynomial identity  $[x^m, y] = [x, y^m]$  is commutative if  $(R, +)$  is  $n$ -torsion free. In attempts to extend this result, several authors have considered various special cases of the properties (c) and  $(c_1)$  (cf. [1, 2, 4, 6, 9, 11, 12, 16]). In most of the cases the underlying polynomials are assumed to be monomials.

The object of this paper is to prove commutativity of rings with unity 1 satisfying either of the properties (c) or  $(c_1)$  together with the property  $Q(r)$ . Further if  $R$  satisfies  $(c_2)$  or  $(c_3)$ , then  $Q(r)$  is replaced by some other suitable constraints on the exponent  $r$ . Next, we establish commutativity of one-sided  $s$ -unital rings satisfying either of the properties  $(c_4)$  or  $(c_5)$ , and hence, generalize many well-known commutativity results for rings.

## 2. COMMUTATIVITY OF RINGS WITH UNITY 1

**Theorem 2.1** — *Let  $R$  be a ring with unity 1 satisfying (c). Moreover, if  $R$  satisfies  $Q(r)$ , then  $R$  is commutative (and conversely).*

**Theorem 2.2** — *Let  $R$  be a ring with unity 1 satisfying  $(c_1)$ . If  $R$  satisfies  $Q(r)$ , then  $R$  is commutative (and conversely).*

We begin with

**Lemma 2.3** ([8] p. 221) — *Let  $x, y$  be elements in a ring  $R$  such that  $[x, [x, y]] = 0$ . Then for any positive integer  $n$ ,  $[x^n, y] = nx^{n-1}[x, y]$ .*

**Lemma 2.4** [10] Theorem) — *Let  $f$  be a polynomial in  $n$  non-commuting indeterminates  $x_1, x_2, x_3, \dots, x_n$  with integer coefficients. Then the following statements are equivalent:*

- (i) For any ring  $R$  satisfying the polynomial identity  $f = 0$ ,  $C(R)$  is nil.
- (ii) For every prime  $p$ ,  $(G(F(p)))_2$  fails to satisfy  $f = 0$ .

**Lemma 2.5** [3] Theorem 1 — *Let  $R$  be a ring and suppose that, for any  $x, y \in R$ , there exists a polynomial  $f(\lambda) \in \lambda \mathbb{Z}[\lambda]$  depending on  $x$  and  $y$  such that  $[x, y] = [x, y]f(\lambda)$ . Then  $R$  is commutative.*

Now, we establish the following results called Steps.

**Step 2.1** — *Let  $R$  be a ring with unity 1 and let  $f: R \rightarrow R$  be any polynomial function of two variables with the property that  $f(1 + x, y) = f(x, y)$ , for all pairs of elements  $x$  and  $y$ .*

(i) *If for all  $x, y \in R$  there exists an integer  $m = m(x, y) \geq 1$  such that  $x^m f(x, y) = 0$ , then necessarily  $f(x, y) = 0$ .*

(ii) *If for all  $x, y \in R$  there exists an integer  $m = m(x, y) \geq 1$  such that  $f(x, y)x^m = 0$ , then necessarily  $f(x, y) = 0$ .*

**PROOF** (i) : Set an integer  $m_1 = m(1 + x, y) \geq 1$  such that  $(1 + x)^{m_1} f(x, y) = 0$ . If  $n = \max\{m, m_1\}$ , then  $x^n f(x, y) = 0$  and  $(1 + x)^n f(x, y) = 0$ . Select  $f(x, y) = \{(1 + x) - x\}^{2n+1} f(x, y)$ . On expanding the expression on the right-hand side by binomial theorem, this yield that  $f(x, y) = 0$ .

Similar arguments may be used if  $R$  satisfies (ii).

**Remark 2.1** : Step 2.1 is proved in [15, Lemma 4] for a fixed exponent  $m$ , but with a slight modification in the proof we have established this for variable exponent  $m$ .

*Step 2.2* — Let  $R$  be a ring with unity 1 satisfying either of the properties (c) or (c<sub>1</sub>). Then  $C(R) \subseteq N(R)$ .

**PROOF :** Replacing  $x$  by  $x + 1$  in (c), we get  $g(y) [x, f(y)] h(y) = \pm (x + 1)^p [(x + 1)^r y] y^q$ . An application of (c) yields that  $(x + 1)^p [(x + 1)^r, y] y^q = x^p [x^r, y] y^q$  that is  $\{(x + 1)^p [(x + 1)^r, y] - x^p [x^r, y]\} y^q = 0$ , for all  $x, y \in R$ . Now Step 2.1 gives that  $(x + 1)^p [(x + 1)^r, y] = x^p [x^r, y]$ , for all  $x, y \in R$ . This is a polynomial identity and we observe that  $x = -e_{11} + e_{12}$  and  $y = e_{11}$  fail to satisfy this equality. Hence by Lemma 2.4,  $C(R)$  is a nil ideal.

On the other hand, if  $R$  satisfies (c<sub>1</sub>), then using the same arguments with  $x = e_{11} + e_{21}, y = e_{11}$ , we get the required result.

**PROOF OF THEOREM 2.1 :** Suppose that  $R$  satisfies the property (c). Let  $b \in N(R)$ . Then there exists an integer  $l$  such that

$$b^k \in Z(R) \text{ for all } k \geq l, l \text{ minimal.} \quad \dots (2.1)$$

If  $l = 1$ , then for each such  $b \in Z(R)$ . Let  $l > 1$ . Replacing  $x$  by  $b^{l-1}$  in (c), we get  $g(y) [b^{l-1}, f(y)] h(y) = \pm b^{p(l-1)} [b^{r(l-1)}, y] y^q$ , for all  $y \in R$ . By using (2.1) and the fact that  $r(l-1) \geq l$  for  $r > 1$ , we obtain

$$g(y) [b^{l-1}, f(y)] h(y) = 0. \quad \dots (2.2)$$

Replacing  $x$  by  $1 + b^{l-1}$  in (c), we get

$$g(y) [1 + b^{l-1}, f(y)] h(y) = \pm (1 + b^{l-1})^p [(1 + b^{l-1})^r, y] y^q.$$

Now (2.2), yields that  $(1 + b^{l-1})^p [(1 + b^{l-1})^r, y] y^q = 0$ . Since  $1 + b^{l-1}$  is invertible, the last equation implies that  $[(1 + b^{l-1})^r, y] y^q = 0$ , for all  $y \in R$ . Now application of Step 2.1 yields that

$$[(1 + b^{l-1})^r, y] = 0. \quad \dots (2.3)$$

Combining (2.3) with (2.1), we get

$$0 = [(1 + b^{l-1})^r, y] = [1 + b^{l-1}, y].$$

It follows that  $r [b^{l-1}, y] = 0$ , for all  $y \in R$  and the property  $Q(r)$  gives that  $b^{l-1} \in Z(R)$ . This contradicts the minimality of  $l$  in (2.1). Hence,  $l = 1$  and (2.1) implies that  $N(R) \in Z(R)$ . Combining this fact with Step (2.2), we get

$$C(R) \subseteq N(R) \subseteq Z(R). \quad \dots (2.4)$$

Replacing  $x$  by  $x + 1$  in (c), we get

$$\{(x + 1)^p [(x + 1)^r, y] - x^p [x^r, y]\} y^q = 0$$

for all  $x, y \in R$ . Again an application of Step 2.1, we get

$$(x + 1)^p [(x + 1)^r, y] = x^p [x^r, y]$$

for all  $x, y \in R$ . Thus, in view of (2.4) and lemma 2.3, we have

$$r[x, y] \{(x + 1)^{p+r-1} - x^{p+r-1}\} = 0.$$

That is,

$$r[x, y] \{(x + 1)^{p+r-1} - x^{p+r-1}\} = 0, \text{ for all } x, y \in R.$$

An application of property  $Q(r)$ , we get

$$[x, y] \{(x + 1)^{p+r-1} - x^{p+r-1}\} = 0. \tag{2.5}$$

Equation (2.5) is a polynomial identity and can be rewritten in the form  $[x, y] = [x, y] xq(x)$  for some  $q(\lambda) \in \mathbb{Z}[\lambda]$ . Hence, by Lemma 2.5,  $R$  is commutative.

Similar arguments can be used if  $R$  satisfies the hypotheses of Theorem 2.2. We omit the details to avoid repetition.

The following results are the immediate consequences of the above theorems.

*Corollary 2.6* (1, Theorem 2) — Let  $n > 1$ ,  $m, r, s$  and  $t$  be fixed non negative integers. Let  $R$  be a ring with unity 1 satisfying  $y^r [x, y^m] y^s = \pm [x^r, y] x^t$ . Moreover, if  $R$  has the property  $Q(n)$ , then  $R$  is commutative.

*Corollary 2.7* — Suppose that  $r > 1$ ,  $p, q$  are fixed non-negative integers and let  $R$  be a ring with unity 1 in which for all  $x \in R$  there exist integers  $l = l(y) \geq 0, m = m(y) \geq 0, n = n(y) \geq 0$  depending on  $y$ , such that  $y^l [x, y^m] y^n = \pm x^p [x^r, y] x^q$  for all  $x \in R$ . Moreover, if  $R$  has the property  $Q(r)$ , then  $R$  is commutative (and conversely).

*Remark 2.2* : If we drop the restriction of unity 1 in the hypothesis of Theorems 2.1 and 2.2,  $R$  may be badly non-commutative.

*Example 2.8* — Let  $B_s$  be the ring of  $s \times s$  matrices over a division ring  $B$  and  $A_s = \{a_j \in B_s \mid a_{ij} = 0 \text{ if } i \geq j\}$ .  $A_s$  is necessarily non-commutative and for any positive integer  $s > 2$ . But  $A_3$  satisfies (c) or  $(c_1)$ .

The above example shows that Theorems 2.1 and 2.2 are not valid for arbitrary rings.

*Remark 2.3* : The following ring shows that the property  $Q(r)$  in the hypotheses of the Theorems 2.1 and 2.2, cannot be deleted.

*Example 2.9* — Consider the ring  $R = \left\{ \left( \begin{array}{ccc} \alpha & \beta & \gamma \\ 0 & \alpha & \delta \\ 0 & 0 & \alpha \end{array} \right) \mid \alpha, \beta, \gamma, \delta \in GF(2) \right\}$ .

The non-commutative ring  $R$  with unit 1 satisfies  $[x^4, y] = [x, y^4]$ , for all  $x, y \in R$ .

### 3. COMMUTATIVITY THROUGH A STREB THEOREM

In view of the Example 2.9, one might ask a natural question: What additional conditions are needed to force the commutativity of  $R$  if the property  $Q(r)$  is dropped from conditions of the Theorems 2.1 and 2.2?

The following theorems give answer to the above question.

**Theorem 3.1** — Let  $R$  be a left  $s$ -unital ring satisfying the property  $(c_2)$ . Then  $R$  is commutative (and conversely).

**Theorem 3.2** — Let  $R$  be a right  $s$ -unital ring satisfying the property  $(c_3)$ . Then  $R$  is commutative (and conversely).

In order to develop the proof of the above theorems, we begin with the following types of rings:

$$(1)_l \left( \begin{array}{cc} GF(p) & GF(p) \\ 0 & 0 \end{array} \right), p \text{ a prime.}$$

$$(1)_r \left( \begin{array}{cc} 0 & GF(p) \\ 0 & GF(p) \end{array} \right), p \text{ a prime.}$$

$$(1) \left( \begin{array}{cc} GF(p) & GF(p) \\ 0 & GF(p) \end{array} \right), p \text{ a prime.}$$

(2)  $M_\sigma(F) = \left\{ \left( \begin{array}{cc} \alpha & \beta \\ 0 & \sigma(\alpha) \end{array} \right) \mid \alpha, \beta \in F \right\}$ , where  $F$  is a finite field and  $\sigma$  is a non-trivial automorphism of  $F$ .

(3) A non-commutative ring with no non-zero divisors of zero.

(4)  $\mathcal{A} = \langle 1 \rangle + T$ ,  $T$  is a non-commutative subring of  $\mathcal{A}$  such that  $T[T, T] = [T, T]T = 0$ .

In 1989, Streb<sup>17</sup> gave a classification of non-commutative rings which has been effectively used as a tool to get several commutativity results (cf. [9, 11, 13, 14]). From the proof of [14, Corollary 1], it is trivial to observe that if  $R$  is a non-commutative  $s$ -unital ring, then there exists a factorsurbing  $\mathcal{A}$  of  $R$  which is of type  $(1)_l$ , (2), (3) or (4). This yields the following result which plays a vital role in our subsequent discussion (cf. [14, Meta Theorem]).

**Proposition 3.3** — Let  $P$  be a ring property which is inherited by factor subrings. If no ring of type  $(1)_l$ , (2), (3) or (4) satisfies  $P$ , then every left  $s$ -unital ring satisfying  $P$  is commutative.

**Remark 3.1** : Obviously, one can remark that the dual of Proposition 3.3 holds, that is, if  $P$  is a ring property which is inherited by factorsurbing and if no ring of type  $(1)_r$ , (2), (3) or (4) satisfies  $P$  then every right  $s$ -unital ring satisfying  $P$  is commutative.

**Lemma 3.4**<sup>13</sup> — Let  $R$  be a left (resp. right)  $s$ -unital ring and not right (resp. left)  $s$ -unital. Then  $R$  has a factorsurbing of  $R$  which is of type  $(1)_l$  (resp.  $(1)_r$ ).

**Lemma 3.5**<sup>14</sup> — Let  $R$  be a ring with unity 1 satisfying the property (CH). If  $R$  is non-commutative, then there exists a factorsurbing of  $R$  which is of type (1) or (2).

Now we prove

**Step 3.1** — Let a ring  $\mathcal{A}$  be a factorsuring of  $R$  of type  $(1)_l$  or (2). Then  $\mathcal{A}$  does not satisfy  $(c_4)$ .

**PROOF** : Let  $\mathcal{A}$  be of type  $(1)_l$ . Taking  $x = e_{11} + e_{12}$  and  $y = e_{12}$  in  $(c_4)$ , we get  $g(e_{12}) [e_{11} + e_{12}, e_{12}^t f(e_{12})] h(e_{12}) = \pm (e_{11} + e_{12})^p [(e_{11} + e_{12})^r, e_{12}] = e_{12} \neq 0$  for some integers  $\gamma \geq 1$ ,  $t \geq 2, p \geq 0$  and polynomials  $f(\lambda, g(\lambda), h(\lambda)) \in \mathbb{Z}[\lambda]$ . This is a contradiction because  $g(e_{12}) [e_{11} + e_{12}, e_{12}^t f(e_{12})] h(e_{12}) = 0$ .

Consider  $\mathcal{A} = \left\{ \left( \begin{array}{cc} \alpha & \beta \\ 0 & \sigma(\alpha) \end{array} \right) \mid \alpha, \beta \in F \right\}$ , where  $F$  is a finite field with a non-trivial automorphism  $\sigma$ . It is noticed that  $N(\mathcal{A}) = Fe_{12}$ . Let  $\mathcal{A}$  satisfy  $(c_4)$ . For any  $c \in N(\mathcal{A})$  and arbitrary unit  $u$  there exist integers  $r = r(u, c) > 1$ ,  $s = s(u, c) > 1$ ,  $p = p(u, c) \geq 0$ ,  $q = q(u, c) \geq 0$  and  $t \geq 2$  with the property that  $r$  and  $s$  are relatively prime, and polynomials  $f(\lambda), g(\lambda), h(\lambda), \tilde{f}(\lambda), \tilde{g}(\lambda), \tilde{h}(\lambda) \in \mathbf{Z}[\lambda]$  such that

$$g(c) [u, c^t f(x)] h(c) = \pm u^p [u^r, c]$$

and 
$$\tilde{g}(c) [u, c^t \tilde{f}(c)] \tilde{h}(c) = \pm u^q [u^s, c].$$

But  $c^t = 0$  because  $t \geq 2$ , and  $u$  is a unit. Then the last two equations imply that  $[u^r, c] = 0$  and  $[u^s, c] = 0$ . The relative primeness of  $r$  and  $s$  shows that  $[u, c] = 0$ . Since the non-central element  $c = e_{12}$ , we see that  $[u, e_{12}] = 0$ . This implies that  $e_{12} \in Z(R)$ , which leads to a contradiction. Thus  $\mathcal{A}$  which is of type (2) cannot satisfy  $(c_4)$ .

*Remark 3.2 :* If a ring  $\mathcal{A}$  is of type  $(1)_r$  or (2), then by using the similar arguments as Step 3.1, with the choice of  $x = e_{12} + e_{22}$  and  $y = e_{12}$  in  $(c_5)$ , we can show that  $\mathcal{A}$  does not satisfy  $(c_5)$ .

PROOF OF THEOREM 3.1 : It is enough to prove that no ring of type  $(1)_r$ , (2), (3) or (4) satisfies  $(c_2)$ . From the proof of Step 3.1, one can observe that no ring of type  $(1)_l$  and (2) satisfies  $(c_2)$ .

Let  $R$  be the ring of type (3). If  $R$  satisfies  $(c_2)$ , then in view of the above,  $R$  can not be of type  $(1)_r$ . Hence in view of Lemma 3.4,  $R$  is also right  $s$ -unital and hence  $s$ -unital. Thus, by [7, Proposition 1] we can assume that  $R$  has unity 1.

Further, it suffices to show that  $R$  has nil commutator ideal (that is,  $C(R) \subseteq N(R)$ ). Replace  $x$  by  $1 + x$  in  $(c_2)$  and combine  $(c_2)$  to get  $(x + 1)^p [(x + 1)^r, y] = x^p [x^r, y]$ , for all  $x, y \in R$ .

Since the rest of the proof carries over almost verbatim as that of Step 2.2, we omit the details to avoid repetition. Since  $R$  has nil commutator ideal, Lemma 2.4 shows that no ring of type (3) can satisfy  $(c_2)$ .

Next, let  $R$  be a ring of type (4). Assume that  $a, b \in T$  such that  $[a, b] \neq 0$ . Then there exist polynomials  $f(\lambda), g(\lambda), h(\lambda), \tilde{f}(\lambda), \tilde{g}(\lambda), \tilde{h}(\lambda) \in \mathbf{Z}[\lambda]$  such that

$$r[a, b] = \pm (1 + a)^p [(1 + a)^r, b] = g(b) [a, b^t f(b)] h(b) = 0$$

and 
$$s[a, b] = \pm (1 + a)^q [(1 + a)^s, b] = g(b) [a, b^t \tilde{f}(b)] \tilde{h}(b) = 0.$$

This implies that  $[a, b] = 0$ , which gives a contradiction.

Hence no ring of type  $(1)_r$ , (2), (3) or (4) satisfies  $(c_2)$  and so, by Proposition 3.3,  $R$  is commutative.

PROOF OF THEOREM 3.2 : The proof of this theorem follows exactly as the proof of Theorem 3.1, except at one point when Step 3.1 is used. Keeping the Remarks 3.1 and 3.2 in mind, it can be trivially shown that no ring of type  $(1)_r$ , (2), (3) or (4) satisfies  $(c_3)$ . We omit the details of the proof to avoid repetition.

In a recent paper Komatsu *et al.*<sup>14</sup> proved that if  $R$  is a non-commutative ring with unity 1 satisfying the property (CH), then there exists a factor subring of  $R$  which is of type (1) or (2) (see Lemma 3.5). Thus, in view of the proof of the Theorems 3.1 and 3.2, one can prove the following :

**Theorem 3.6** — *Let  $R$  be a left (resp. right)  $s$ -unital ring satisfying  $(c_4)$  (resp.  $c_5$ ). Suppose that  $R$  satisfies (CH). Then  $R$  is commutative (and conversely).*

#### ACKNOWLEDGEMENT

The author would like to thank Professor H. S. Mani for hospitality at the Mehta Research institute of Mathematics & Mathematical Physics (MRI), Allahabad. I also would like to thank Professor D. Prasad of the Mathematics Section. During the preparation of this article, the author was a visiting mathematician at the MRI, Allahabad, India. Finally, we extend our thanks to the referee for his valuable comments.

#### REFERENCES

1. H. A. S. Abujabal and M. A. Khan, *Georgian Math. J.* **5** 1998 301-14.
2. H. A. S. Abujabal and V. Peric, *Results Math.*, **21** 1992 256-63.
3. H. E. Bell, *Results Math.*, **8** 1985 123-31.
4. H. E. Bell, *Canad. Math. Bull.*, **21** 1978 399-404.
5. H. E. Bell, *Arch. Math.*, **24** 1973 34-38.
6. I. N. Herstein, *Michigan Math. J.*, **8** 1961 29-32.
7. Y. Hirano, Y. Kobayashi and H. Tominaga, *math. J. Okayama Univ.*, **24** 1982 7-13.
8. N. Jacobson, *Amer. Math. Soc. Colloq. Publ. Providence*, 1956.
9. T. P. Kezlan, *Math. Japan*, **48** 1998 287-90.
10. T. P. Kezlan, *Math. Japan*, **33** (1982) 267-68.
11. M. A. Khan, *Czechoslovak Math. J.* (to appear).
12. M. A. Khan, *J. Indian math. Soc.* **66** 1999 (to appear).
13. H. Komastu, T. Nishinaka and H. Tominaga, *Rad. Math.*, **6** 1990 303-11.
14. H. Komastu and H. Tominaga, *Math. J. Okayama Univ.*, **31** 1989 101-20.
15. W. K. Nicholson and A. Yaqub, *Canad. Math. Bull.* **22** 1979 419-23.
16. E. Psomopoulos, *Internat. J. Math. Math. Sci.*, **7** 1984 513-17.
17. W. Streb, *Math. J. Okayama Univ.*, **31** 1989 135-40.